
                    
              

      𝑥 ≥ −7
         
 

         
 

     

    3𝑥 + 1 > 0
       
          
    

       

 The word problem is “4 greater than x.”
                 

     

         
                        

      



                 
    


= 4    


> 4

               

 
 −15𝑞 ≤ 135 
     
      
 

Joaquin’s solution was 𝑞 ≤ 150
     
      
     
     

    
      
     
    

                 
3𝑥 + 3 ≤ −2𝑥 + 5
3𝑥 ≤ −2𝑥 + 2

𝑥 ≤ 2
          

         −4(3𝑚 − 1) ≥ 2(𝑚 + 3)      
        

                 

                         
                    
     

   ≥ 6 + 4𝑠      –       – 


